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QUESTION ONE   (18 POINTS)  الرجاء نقل رمز الإجابة الصحيحة على الجدول في الصفحة الأولى  
 
1- The SI units for mass is: 

a- g b- kg c- mg d- ng 

 
2- A body temperature is 40.0 °F. This temperature in Celsius is: 
a- 4.4 °C    b- 129.6 °C         c- -14.4 °C            d- 40.0 °C 
    
    

 

3- Express this number in scientific notation 0.00000720 

a- 7.2 × 106 610×7.20  -b 6-10×7.2  -c 6-10×7.20  -d 

 
 
4- The answer of (3.8621 x 1.5630) – 5.98 is written as:  

a- 0.06 b- 0.056 c- 0.0565 d- 0.05646 

 
: prefixis related to  9-10 -5 

a- micro b- nano c- pico d- milli  

 
6- Which one of the following is an alkali earth metal? 

a- Mg b- K c- He d- B 
 

7- Which one of the following molecular formulas is also an empirical formula? 
 

a- C2H6S2O4  

 

b- C6H6O2 

 

c- H2O 

 

d- H2P4O6 
 

8- The element that located in period 3, group 2A is:  

a- Se b- K c- Sn d- Mg  

9- Which pair of atoms constitutes a pair of isotopes of the same element?  

a- 
14 14

6 7X   X  
14 12

6 6X   X -b 
17 17

9 8X   X -c 

 

19 19

10 9X   X -d 

10- How many molecules of O2 would react with 56 molecules of C2H6?                      
(Avog.no.=6.022x1023) 

2C2H6 + 7O2 --> 4CO2 + 6H2O 
 

a- 784 b- 196 c- 392 

 

d- 112 
 



11- Calculate the percent composition of oxygen,% O, in Na2CO3 

a- 57.1% b- 45.3% c- 43.0% 

 

d- 0.57% 
 

 
12-Which one of the following ionic compounds is soluble? 

 
a- CuSO4 

 
b- Sr(OH)2 

 
c- FePO4 

 
d- BaSO4 

13- Which substance below is a weak acid in aqueous solution? 

a- HF b- HCl 3HNO -c 

 

d- H2SO4 
 

 

14- What is the oxidation number of Au in KAuCl5 ?  

a- +4 b- +5 c- +2 d- +3 

 
 
15- What volume of 0.105 M aqueous NaOH solution is required to neutralize 40.0 mL 

of 0.210 M aqueous H2SO4 solution? 

a- 10.0 mL b- 80.0 mL c- 40.0 mL d- 160.0 mL 
 

 
16- In the equation: HF + H2O       H3O+ + F- 

O is a base and HF is its conjugate acid.2H -a 
O is an acid and HF is the conjugate base.2H -b 

is its conjugate base. -HF is an acid and F -c 
is its conjugate acid. +O3HF is a base and H -d 

 

17- If a solution has a pOH = 2.9, the solution will be: 

a- basic   b- neutral c- acidic  d- none 

 
 

(  2   POINTS) QUESTION TWO  

 
Given the following: 42.07g Na, 18.89 g P, and 39.04 g O. Determine the empirical 
formula. (Molar mass of Na = 22.98 g/mol, P = 30.97 g/mol, O = 16 g/mol). 
 

 

 

 

 

 



QUESTION THREE (3 POINTS) 
 

a- Write a balanced chemical equation for the reaction of solid iron with 
bromine gas to produce iron(III)bromide solid. 
 
 
 
 
 

b- Complete the reaction: 
 
CuSO4(aq)  +      BaCl2(aq)                                    …………..(s)  +      ………….(aq) 

 
What is the: 
 
Net ionic equation : 
 
……………………………………………………………………………………………… 

 

 

QUESTION FOUR (4.5 POINTS) 
a- If 0.50 g CaCl2(Mwt: 110.98 g/mol) is added to 15.0 mL of 0.100 M AgNO3, 

what is the mass in grams of AgCl precipitate ( Mwt: 143.32 g/mol) ? 
         
        2 AgNO3(aq)   +      CaCl2(s)                     2 AgCl(s)  +      Ca(NO3)2(aq) 

 
 

 

 

 

 

 

 

 

 

 

 

b- Find the percentage yield ( % yield) if the actual yield of AgCl is 0.175g. 
 

 

 

 

 

 

 

 



QUESTION FIVE (2 POINTS) 
A 5.00 x 102 mL sample of 2.00 M HCl solution is treated with 4.47 g of magnesium 

(Mg). Calculate the concentration of the acid solution after all the metal has 

reacted. Assume that the volume remains unchanged 

 

 

 

 

 

 

 

 

 

 

 

QUESTION SIX (2.5 POINTS) 
a- Calculate the pH of a 0.24 M sodium formate solution (HCOONa). 

                              (Ka for HCOOH= 1.8x10-4) 
 
 
 
 
 
 
 
 
 
 
 
 

b- 0.23M of weak acid that has the percent of dissociation is 1.5 % , calculate 
Ka of acid.         %H+ =   [H+]   x 100% 
                                       [ acid] 


